.

TOTEM S




LASER FOCUS REDUCE HEAT AND GLARE WHICH CAN HARM HUMAN,ANIMALS
AND OBJECTS.DO FOLLOW THE INSTRUCTION.MISUSE WILL BE AT YOUROWN RISK.

Avoid direct eye
contact, may lead

to blindness

®

Avoid exposure to
body surface,

it burns

"

Put base plate
under the

workpiece

Avoid combustible

object or gas.

®

Keep it away from
incompetent people,
such as children or

pregnant women

Do NOT take apart
the laser without

instructions

Do NOT use it
on material that

KA

reflects the light

o

Wear goggles

while using

&
»

Turn off the power

when not use

Warning: The laser engraving machine cannot directly act on any specularly reflective object.

This can cause injury to the operator or burn the laser.

@ The product has a high engraving speed and is not recommmended for industrial cutting.

And the laser head is a consumable.

@ It is not recommended to look directly at the laser head when the machine is working.

Also do not operate the laser head directly with your hands. Please wear goggles.

To ensure that the engraving machine is safe, fireproof and away from the children’s environment.

@ The laser diode is a sensitive component, please take care to prevent static damage.

(This product includes an electrostatic protection design, but there is a possibility of damage).

01



PARTS LIST

X-axis guide rail profile X 1 Y-axis frame front rear profiles X2  Y-axis frame right part X 1 Y axis frame left part X 1
(443mm ) (400mm )

1wl
Z-axis fine—tuning module X 1 Foot Pad X 4 Laser head X 1 Carriage head X 1
Tensioner X 1 Motherboard Fixed seat X 1 M5*10 X 8 M3*8 X 4

= y
M4%10 X 8 M4%12 X 2 T Nut 20-M4 X 10 T Nut 20-M5 X 4
e —
Carved Wooden Board X 1 USB Cable X 1 Power Supply X 1 Closed Timing belt X 1
Tool KitX 1 Wire Package X 1 Laser Goggles X 1

02



KNOW YOUR
ENGRAVING MACHINE

Z-axis Fine—Tuning Module
Laser Head
Foot Pad

Motherboard Fixed seat

Tensioner
Y Axis Motor

o 0k~ 0N =

7. Y-Axis Right Injection Molded
8. Carriage Head
9. Motherboard
10. X Axis Motor
11. Y-Axis Left Injection Molded
12. Y Axis Motor

03



1. Install the Feet

C

Note:

1. Install the T-nut and screw on the foot pad,
Place the T-nut to the corresponding profile
2. The smooth side of the profile is facing up

2. Install the Feet

M5*10 Screws (4 Pcs) T-Nut 20-M5 (2 Pcs)
M4*10 Screws (4 Pcs) T-Nut 20-M4 (4 Pcs)

M5*10 Screws (4 Pcs) T-Nut 20-M5 (2 Pcs)
M4*10 Screws (4 Pcs) T-Nut 20-M4 (4 Pcs)

{t )E

- T u

7 £ O

1o 9, L )

9 o 5 =

L/ N ‘13 P |
=

- 04



3. Install the Carriage Head

X Axis Profile

(- N
N
7

Eccentric Nut

A If it is difficult to push in, you can adjust the eccentric nut of the carriage head

4. Install the Left Support

T-nuts and screws have been fixed on the injection molded part

T-Nut 20-M4 (2 Pcs)
Half Round Head M4*10 (2 Pcs)

02 b AR

05

/

A If the wheel is hovering and rotating, it does not fit the profile
The eccentric nut can be adjusted clockwise from the screw head with a wrench



5. Install the Right Support

T-nuts and screws have been fixed on the injection molded part
T-Nut 20-M4 (1 Pcs)
M4*10 Screw (1 Pcs)

A If the wheel is hovering and rotating, it does not fit the profile
The eccentric nut can be adjusted clockwise from the screw head with a wrench

6. Install the Timing Belt

1.Put the timing belt on the pulley of the X-axis motor 2. The timing belt is set on the head of the carriage

g —* M4*8 Screws (2 Pcs)

- - M3*18 Screw (1 Pcs)

T-Nut 20-M4 (2 Pcs) o

T-nuts should be placed vertically corresponding to
the profile

e

4. The timing belt line is sleeved on the idler pulley,

Push it into the fixing seat and lock the screw,

3. Fix the tensioner with screws and T—nuts

Then screw the nut to install it



7. Install the Lifting Platform

/ ‘
/

(N}

M3*8 Screws (4 Pcs)

8. Install the Motherboard

M4*12 Screws (2 Pcs)
T-Nut 20-M4 (2 Pcs)

07




9. Laser Head Focusing

Using a fixed focus laser head,
Control the focus of the laser head by adjusting the lift table, the fixed focus distance is 20mm

The distance is too far, the focus is not Correct focus and clear carving
right, and the carving cannot be made

10. Wiring diagram

(MDLaser head line
®X axis motor line

@)Y axis motor line

.
/

Motor line 1 Motor line 2

You can put a suction cup in the red box, and tie a cable tie to fix the wire

08



11. Install non-slip gasket

e )
Anti-slip sheet:
ede) o

You can stick a non-slip sheet under the foot pad to stabilize the

09



X Eedstop

Y Eedstop

5V Output

uUSB

TTL Output| |12V Output

Power supply

12\/l ﬁ TTL

- J

5V infrared locator wiring

Laser wiring



1.0pen the GRBL software installation package of the SD card to install the
software by default according to the steps, and the installation is complete

as shown in the figure

Setup - LaserGRBL Rhyhorn

Completing the LaserGRBL Setup
Wizard

Setup has finished instaling LaserGREL on your computer, The
application may be launched by selecting the installed
shortouts.

Chick Finish to exit Setup.

FA Launch LaserGRBL

2.0pen the software and select the corresponding COM. Connect to 115200
baud rate, and then click "Configure”, as shown

X 180000Y-0¢
F000005:C

Ya®Bl @aC

..................

A If there is no serial port or cannot be connected, you need to install the driver (CH340SER.EXE)

11



3.As shown in the figure, read the configuration file that comes with the tf card.

Gbl e Colors Langusge Took 2

o o B [115200 0 6%,
Flename | v
P

Serst 137 5" for heln] ~

A0 ERE > DAE > A > EE > EE > MEIOLC > ARG

EOA

= s =
Jome

L Pt 092168
U REERERT

[[] Engraving machine configuration.nc

. LG

20191

ZPE N [Engraving machine configurationne

% “m

12/26 1126

Hib

] [ccobe s Cneiocds)

|

B e

e

e

R e

X 180000Y. 000
F00005:0C

I e

4.Show success You can also modify the configuration properties you need here
For details, please refer to tf card and grbl code.

4 Grbl

Grbl 33 configuration
2 Parameter

» Scep pulse time
31 |Step idle delay
.$2 'Scep pulse invert
A$3 AScep direction invert
34 AInve:: step enable pin
'$5 :Invez: limit pins
'56 TInvezt probe pin
élO :Sca:us report options
311 4Junc:ion deviation
312 ?Axc tolerance
313 1Repo:t in inches
320 'Soft limits enable
321 AHa:d limits enable

34 Config imported successfull','![

Value

10

oc|lo|o|o|o|o|r|o|o|o|o [~

o
=y
o

o
=3
©

mask

|boolean

|millimeters

boolean

Unitc

microseconds

|milliseconds

mask
boolean

boolean
| mask

millimeters

boolean

boolean

boolean

Sets time length per step. Minimum 3usec.

Sets a short hold delay when stopping to...
Inverts
-Inve:cs
.invezvs

Inverts

Inverts

Sets how fast Grbl travels through conse...

Enables hard limits.

Description

the
the
the
the

the

Alters data

step signal. Set axis bit to...
direction signal. Set axis b...

stepper driver enable pin si...

all of the limit input pins.
probe input pin signal.

included in status reports.

Sets the G2 and G3 arc tracing accuracy ...
Enables inch units when returning any po...

Enables soft limits checks within machin...

Immediately halts m.

£| Enables homing cycle. Requires limit switches on all ax

acl|

CWrite

’& Refresh

 oitm

12



5.Right—click below the main interface and click the Import button to configure

# LaserGRBLv3.0.24

- s
il o Colors | ianguage Teals %
CoM coMs - B 8200010 . ozt
Fiarame | s
Progess L

o

323-
ol @
-.000 . [Y][&8]® Sl

Lines: 0 Buffer Estimated Time: now Import custom buttons 01,00 61 (100160 11004 Status: |

6.Click on this file to import

ige  Tools 2

#

-

7

P

= + 77

« P m HEE S UERG) v oo BEUEG)

an R

& o o £ BREH =3 KN
4T

8 CustomButtons.gz 2019/12/26 13:38  360/EH 26 KB
»Es

= engineer (\19:
- U&(G)
o AE

v

JHEN): | CustomButtons.gz ~| |zippedsutton ¢:g2)

7 BE

13



7.Click Open File to open the picture you need to sculpt

000
1 °@° T 7@ O [
= 000 , [VIB|BEK o [#dHONMIIARTIH=1 4] @G

8.Select the engraving method according to your needs

ii:jimi\e ;nlnsy:m1 :.‘l::;;ge 1%\5 ?
o ——
TOTEM S
A sepA2d sl
-822-
=000 . B o e EedHNIIAIR T <=L

14



9. Click Next
The laser is enabled with the M3 spindle CW or M4 spindle CCW commands.
These enable two different laser modes that are advantageous for different reasons each.
http://lasergrbl.com/usage/raster-image—import/target-image-size—and-laser—options

»

Parameters Preview (Qriginal

Resize Smooth (HQ Bicubic) v

Brightness ]

Contrast _ m
White Clip = IEEE—

] Beat Target image n
Conversion Tool Speed

@ Line To Line Trecing Engraving Speed 2000 mm/min

(O 1bit B Dithering Laser Options

O Vectorize! Laser ON Laser OFF 15 v @ @
O Centerline SN l;ﬂﬁ::- St 258 a8

Line To Line Options . o
Image Size and Position [mm]

[ Autosize 300 0 EXIF]

Direction Horizontal v

Quality 12.000(% Lines/om [

[]Lins Eours Size W 41.6 H 53.4
ine Preview
Offset X 0.0 ¥ 0.0
Cancel Create!

TOTEM

AN e AXd A Jrere

10.Click Finish to return to the main interface, Control the sculpting head to the lower left,
Click to set the origin and click the engraving range option, View carving area

% LoserGRBL Y3024

- 8 x
Grbl  Fle Colors Language Tools 2

con coms | eme 162000 10 8oy 08
Flename |58 og 7([Hes.s F: 00000 S: 000
Proges | i =

. TOTEMS

) 3.4

=000 . [Va[EldolerHeoN NI~~~ — — gd

Lines: 39724 Bufer Estimoted Time: 2 min S (1,004 61 [1.00x50 [1.00x]|_Status: Idle

15




11.If the red font is displayed here, click the unlock button to unlock

OIEI©;
000 . [YEBH o o AR T =111
Unes 35728 sufr ccimated Time o < 10091 (1000 (1004 st

16






